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Inventory Practice Problems

1. If D = 1,000 per year, S = $62.50 per order, and H = $0.50 per unit per year, what is the economic order quantity?

2. If D = 8,000 per month, S = $45 per order, and H = $2 per unit per year, what is the economic order quantity?

3. If the economic order quantity = 300, annual demand = 8,000 units, and order costs = $45 per order, what is the annual per unit holding cost?

4. Kara Chubrik uses 1,500 per year of a certain subassembly that has an annual per unit holding cost of $45 per unit. Each order placed costs Kara $150. She operates 300 days per year, and has found that an order must be placed with her supplier 6 working days before she can expect to receive that order. For this subassembly, find

(a) Economic Order quantity

(b) Total annual holding cost

(c) Annual ordering cost

(d) Reorder point

5. Lead time for one of your fastest-moving products is 21 days. Demand during this period averages 100 units per day. What would be an appropriate reorder point?

6. Cong Manufacturing has gone out to bid for a regulator component. Expected demand is 700 units per month. The item can be purchased either from Vesey Manufacturing or from Vaccaro manufacturing. Their price lists are shown below. Ordering cost is $50, and annual holding cost per unit is $5.

	Vesey Mfg.
	Vaccaro Mfg.

	Quantity
	Unit Price
	Quantity
	Unit Price

	1-499
	$16.00
	1-399
	$16.10

	500-999
	15.50
	400-799
	15.60

	1000+
	15.00
	800+
	15.10


(a) What is the economic order quantity?

(b) Which supplier should be used? Why?

(c) What is the optimal order quantity and the total annual cost?

7. Costello Engineering has summarized the price list from four potential suppliers of a valve assembly. See the table below. Annual usage is 2,400 valves; order cost is $10 per order; and annual inventory holding costs are $3.33 per unit.

Which vendor should be selected, and what order quantity is best if Costello wants to minimize total cost?

	Vendor A
	Vendor B
	Vendor C
	Vendor D

	Quantity
	Price
	Quantity
	Price
	Quantity
	Price
	Quantity
	Price

	1-49
	$35.00
	1-74
	$34.75
	1-99
	$34.50
	1-199
	$34.25

	50-74
	$34.75
	75-149
	$34.00
	100-199
	$33.75
	200-399
	$33.00

	75-149
	$33.55
	150-299
	$32.80
	200-399
	$32.50
	400+
	$31.00

	150-299
	$32.35
	300-499
	$31.60
	400+
	$31.10
	
	

	300-499
	$31.15
	500+
	$30.50
	
	
	
	

	500+
	$30.75
	
	
	
	
	
	


8. Demand during lead time for one brand of TV is normally distributed with a mean of 36 TVs and a standard deviation of 15 TVs. What safety stock should be carried for a 90% service level? What is the appropriate reorder point?

9. Based on available information, lead time demand for CD-ROM drives averages 50 units (normally distributed), with a standard deviation of 5 drives. Management wants a 97% service level.

(a) What value of z should be applied?

(b) How many drives should be carried as safety stock?

(c) What is the appropriate reorder point?

10. Using the fixed-time period inventory model, and given daily demand with an average of 300 units and standard deviation of 12 units, 4 days between inventory reviews, 5 days for lead time, 1,200 units of inventory on hand, a stockout probability of 0.05, what quantity should be ordered? 
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